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% % % % % % %
A (1018) (1018) 70.5 174 87.9 3.2 13 4.5 7.6
18M|0| 4+ 20CH 135 168 62.6 19.3 81.9 2.5 0.7 32 14.9
30ch 168 152 69.4 16.8 86.2 5.6 14 7 6.7
A 40LH 189 185 73 15.3 88.3 1.6 2.7 43 74
50CH 203 198 814 12.3 93.7 29 1 39 2.5
604 0|44 323 315 66.8 21.1 87.9 37 0.9 4.6 74
" =24 532 507 76.7 12.7 89.4 33 1.6 49 5.8
° ol N 486 511 64.4 22 86.4 3.2 1 42 94
M2 205 191 70 174 87.4 3.1 2.2 53 74
A71/91H 320 326 68.6 18.5 87.1 2.9 1.2 41 8.7
X194 /s 8/MES/4 3 132 139 723 16.2 88.5 3.8 1.7 55 6.1
i/ 150 151 69.2 19.1 88.3 5.8 0.6 6.4 53
/4= 95 100 75.6 16.7 92.3 2 1 3 47
e/ 2F/AS/MF 116 111 71.8 13.8 85.6 1.6 0.6 2.2 122
HEojolxg 428 430 70.3 17 87.3 39 14 5.3 75
S| & 402 406 70.3 19 89.3 34 1.3 47 6.1
. Holg 17 16 69 19.2 88.2 - 4.6 4.6 72
X X[ete B
7|EpPE S 22 21 76.7 18.7 95.4 - = 0 46
ANREEY s 142 139 73.5 11.8 85.3 2 0.8 2.8 119
Ans 7 6 15.7 57.9 73.6 - = 0 26.5
£ 557 559 69.6 17.3 86.9 33 1.5 4.8 83
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= Bs 36 36 51.1 12.8 63.9 45 - 45 31,6
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I 229 233 71.8 15.9 87.7 2.6 1.3 39 8.5
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HH| (1018) (1018) 50.3 13.5 63.8 14.5 12.2 26.7 9.6
18A4[0] 4 20CH 135 168 442 84 52.6 18.1 6.7 24.8 225
30CH 168 152 45.8 17.2 63 12.9 13.6 26.5 10.5
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Ha 277 277 67.4 9 764 8.7 94 18.1 5.5
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A (1018) (1018) 27.3 40.7 22.9 9.2
18M0] & 20CH 135 168 29.5 36.3 22.2 11.9

30CH 168 152 21.9 41.9 29.0 7.2
Nal 40CH 189 185 21.7 43.3 24.3 10.7
50CH 203 198 20.3 49.6 25.7 4.4
60XM|0| & 323 315 36.3 35.3 17.6 10.8

A =2 532 507 28.2 43.7 22.1 6.0
ofd 486 511 26.3 37.7 23.6 12.4

ME 205 191 33.6 37.7 22.3 6.4

a71/13 320 326 22.1 43.0 25.0 9.9

x| CHH/E-E/MEB/Z2 ¥ 132 139 29.0 37.5 25.2 8.2
Fi2i/38' 150 151 29.4 48.8 14.8 7.0
/385 95 100 40.7 32.0 13.0 14.3
He/Z2F/H=5/MF 116 11 14.1 39.8 34.3 11.8

EoUxg 428 430 13.7 39.2 39.6 7.5

=09l & 402 406 47.6 38.9 7.3 6.1
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